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Problem 2: 
a.   

 

 

 

 

 

 

 

 

b.  if the wind blows continuously between 15 and 20 m/s all day, the power output is 1.25 MW 

all day. Thus the total energy is 1.25×24=30 MWh/day 

c. No. Consider the question on Quiz 2. 

 

 

Problem 3: 

For k = 2, the Weibull distribution is called the Rayleigh p.d.f. 
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    Since the average wind speed is 20 m/s 
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a.  

when temperature is 15 oC    
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1.224 ⋅1.91 ⋅V 3 = 1
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1.224 ⋅1.91 ⋅203 = 9351 W / m2  

when temperature is -5 oC    
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1.315 ⋅1.91 ⋅203 = 10047 W / m2  

 

b.  

 when temperature is 15 oC    
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when temperature is -5 oC    
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